Installation Instructions . ,
Part# 6294 =)o « L1E) A R~

\

Yamaha Drive G29 Upper Brush Guard -t T -

_ Y
ITEM A \ fITEMB - Y
Rear Loop (1) Main Frame (2) ¢ ITEM C
Front Post (2)

e S ITEM E A g
ITEM D . TEME A

Spacers (2)

Cross Supports (2) R Rear Bracket (2) E:Eycilmps )
Aluwoss. wean approprials
/ : \ e pwiéda’ow/

1. Remove the rear basket and top from the cart.
2. Slide the rear loop (ITEM A) behind the seats
as shown in picture 1. . ;

3. Mount the rear brackets (ITEM F) to both seat & eRear Bracke
backs using the supplied M8-1.25x20 bolts as M8 1 25X20 9 A3, e
shown in picture 1. s ‘—' ,

4. Loosely mount the rear brackets (ITEM F) to ;
the rear loop using the rear clamps (ITEM G)
as shown in picture 1.

5. If your cart does not have a top remove the
rubber grommets on both sides of the front
cowl where the stock top supports would
mount. **NOTE** If you are installing a
Jake’s front brush guard you must install
it before you move to step 6!

6. Using the supplied spacers (ITEM E) and
supplied M8-1.25x70 bolts, mount the front
posts (ITEM C) to the stock front top support
location as shown in picture 2.

7. Mount the main frames (ITEM B) to both the
front posts (ITEM C) using the supplied

7/16x2 Y4 bolts, washers & locknuts. : inside of front
8. Mount the cross supports (ITEM D) to the % post mount
main frames (ITEM B) using the supplied Optional front
7/16x2 Y4 bolts, washers & locknuts. hrssh gusr
: Part# 6297

**NOTE** The front cross support angles
to the front and the rear cross support
angles to the rear.

9. Securely tighten all nuts and bolts.

10. Reinstall basket if wanted.

WARNING: This device does not provide roll-over
protection.
NON-R.O.P.S. RATED
= HEE

866-405-2537
www.jakesliftkits.com




